MODEL QUESTION PAPER

SET -1
PHYSICS (sfiferent)
(Class XIIth)
Full Marks 70
0s-31 (Group A) 115 =15
1. fReafaRaa ueat & 3T €ifSTE :  Answer the following questions :

(1)

(ii)

(iii)

(iv)

v)

(vi)

(vii)

UR9T 9IuTich &l S.IATI®G & | The S.IL unit of inductance is-

(A) BeT3t Henry (H) (B)daIz Weber (wb)
(C) =Ig=t Newton (N) (D) 37737 Ohm (Q)

I gcamadi aRr den fed ase aa B A weridr ¢ &1 ar
otferd IIuTics ohT ATl ElaT B |

If ¢ be the phase difference between alternating current and emf, then the
power factor is-

(A) tang (B) cos¢ (C) Sing (D) cos’ ¢

Sd arg A glg Bt & ar et a1t &1 ufedrer -

As temperature increases, the resistance of a conductor -

(A) I&ar 2 Increases (B) gear 2 Decreases
(C) 3raf3afda T&ar 2 remains constant
(D) aTeies Uz ferafz @2ar @ depends on conductor

Tpmars o1 e foraa forear & JF e fsr & J=eror & forws
ar et gRofar 3

Kirchoff’s point rule (Junction rule) is a direct consequence of law of
conservation of -

(A) 3tTarer Charge (B) JdoT Momentum

(C)piofter Ador Angular Momentum (D) 31t Energy

drg dgel & AT 3fefaTaies a5t ATedhdl —

As temperature increases the conductivity of a semiconductor -

(A) I&ar 2 Increases (B) gear 2 Decreases
(C) 3217 I&aT @ remains constant (D)S<ldd A <@t None of these

AND3Je & fou Ifororer =ioies &iar 8-

The Boolean expression for AND gate is -
(A) A+B=Y (B) A-B=Y (C) A+B=Y (D) A-B=Y

P type 3Teg dATcTdh deld & ofd 37UfdHSIBs UIATY &I & |
P type semiconductor is formed when dopant atom is -

(A) dTF=ireil Pentavalent (B) BBr=i=nsit Trivalent
(C) Tg=i=nsit Bivalent (D) Tas J=ATSil Monovalent



(viii)

(ix)

(x)

(x1)

(xii)

(xiii)

(xiv)

(xv)

doieexf (1) dret Wwiciel &t 3ol & |
Energy of a photon of wavelength (1) is

hA hc h
(A) - (B) - (C) hA (D) 2

eMRar C arer el AT B FAATAT HA BT oI erfiRar o |

Three capacitors, each of capacitance ‘C’ are connected in parallel. Their
equivalent capacitance will be-

(A) ¢/3 (B) 3¢ (C) 3/c (D) 3i
C

Bt foftieceer LCR uf3uer & L =05 H, C=8uF 30T R =100 Q% |
uRuer @t srgart smafr 2
In a series LCR circuit L = 0.5 H, C=8uF and R = 100 Q. The resonant

frequency of the circuit is -

1000 250 500 125
(A) —Hz (B) — Hz (C) —Hz (D) —Hz
T T V4 T

HacT AT darer fBAt wozxfto uRuer & gwmr wd dicear &
da Betedz &ar B

The phase difference between current and voltage in AC circuit containing
capacitor only is -

(A) 0° (B) 45° (C) 180° (D) 90°

ATTel Soldlel & 3TUdis dor bt feom ardt 2

The direction of drift velocity of conduction electron is -

(A)Taga &5 & fusta f&em & Opposite to the electric field
(B)Ted fasta @5t feem F Along the increasing potential

(C) (A) 3T (B)<arsit Both (A) and (B)

(D) 3uad H hIs =@l None of the above

=il TUrseT & BT 3cUsel dul e A JATA A Tadcdel Tord a7
BT BAT &1 98 B-

In a spectrum produced by dispersion through a prism, the ray deviated least is -
(A) 9T Yellow (B) =fteir Blue

(C)efrer Red (D)&=1 Green

Rrga & 30 A IR F Siewrt adr & 2

Electric field lines provide information about -

(A) &1 @t draar Field strength (B) f&omr Direction

(C) 3TTaeT @t uahlar nature of charge (D)= At All of these
Fleder Ag H, It I vd gRmAT Hr IuFA A ded f&en
ST ar emrATdr H faera-

In a Wheatstone bridge if the battery and galvanometer are interchanged then

the deflection in galvanometer will-



10.

1

1.

(A) gdadi feem # uRafda &rem Change in previous direction
(B)pis uRader =&l & No change

(C)fTaadia feem & uRafda &rem Change in opposite direction
(D)seidd A bIg <&t None of these

Iros—a (Group B) 2x8 =16
RreataiRaa ueali & 3T €IfSE :  Answer the following questions :

gaadbed Adell oA w1 forwra s |
Write the Gauss’s law for magnetism.

20 A0FHT0 dTdhar Brear & 3fader gdur & ATHS 15 J0OFH0
FH P TR W TG B UAIeT Fw1 e AR smada sa
HIST |

An object is placed at 15cm in front of a concave mirror of radius of curvature
20cm. Find the position and magnification of the image.

Rrega & = = 22 feEa &= Jsmeit & el a1 oon &
IcTIBT B3 |
What is electric field line ? Give any two properties of electric field lines.

P-N Jdfer srens & 31tar 3ifdaa dAdeiad dar  3chA  3ifded
I=ATGTel &bl R=IT dreas & ?

What do you mean by forward Bias and Reverse Bias of a P-N junction diode?
STeAWBIAT Pl hIs UIdSIT JTAT=IT SildT & | =T 2

The core of the transformer is laminated. Why ?

TIHgATdT TT dicedier & g Big & 3Tedd bl IcoiH B |

Mention any two differences between potentiometer and voltmeter.

U UTEd! &R &bl AMBIOT [ =10sin2007¢ &1 &RT &Y 3ATITT
Ud dGol-ATRI—T AT ferapredt |
The equation of an alternating current is I = 10sin 20077 . calculate frequency

and r.m.s. value of current.
LED =T 2 ? SAP I 3gudiol bl 3cois B2 |
What is a LED ? Mention two of its applications.

IFos—A (Group C) 3xs =24
RreataRaa ueali & 3T €IS :  Answer the following questions :

fpat eaRrmarEdl ot ufdafaishr b aUIhcd Bl =oich UTd b |

Derive an expression for the self inductance of a long solenoid carrying current.

JAFH H R &I Udol oiAl B FeT B goT WA P B e
=olch U b3 |




12.

13.

14.

15.

16.

17.

18.

Find an expression for the equivalent focal length for a system of two thin
lenses in contact.

AR B UIATY HAlscd I THIRIMBNT BT Icoid Bo | AR Alsdd
T AT F=T E P

Mention the postulates of Bohr’s model of atom. What are the limitations of
Bohr’s model ?

Redga JAdelt oA w1 gdAT o=l denm Rig &2

State and prove Gauss’s theorem for electrostatics.

umrel Rega vsma & Jdcsd A i woer, Qe smafa 3R
ferrelt freta o1 uRenita &3

With reference to photoelectric effect define the terms work function,

threshold frequency and stopping potential.

Th JAHATAAT Tic AL bl el b HAT hl ololég A Tdb
JATE foga & E2 1 aft St & g a5 I d & denr ua®
e BI Hha A &, ar JeRs A Afra Foil ferdwret |

A parallel plate capacitor has a uniform electric field E in the space

between the plates. If the distance between the plates is d and area of each

plate is A, then find the energy stored in the capacitor.

frega geaastr URur @=m B ? Regageas IRur & fow BRI &t
oo faReo |

What is electromagnetic induction? Write the Faraday’s laws for
electromagnetic induction.

giuer 3 P ASAl A TP YOI dor deehrer & Hu A P-
N <fer srens @r ot fafer a1 aofa &3 |

Describe with circuit diagram the working of a P-N junction diode as a
full wave rectifier.

(Group D)
feraifeiRaa uealt & 3T IfSTE :  Answer the following questions :
rpeTs @ Rega uRua @ faAl @& o=l s 3g &
Jgoia & fou ord uta @I |
State Kirchoff’s laws for electric circuit. Obtain the condition for balance
of a Wheatstone bridge.

5x%3
=15



19.

20.

3rerar/OR
fopaft uerel & ufdderehar Td dlcihdl A 3T RIT AHIG & ?
J =cE Jdel Tqua o3 |
What is meant by resistivity and conductivity of a substance ? Derive the
relation, J =cE
IR P uRue or=rd b1 3ot w2 | A o=eT b1 3u=nor
FHd gu RAT grRmaEr aReriasr & afiast foeg v geaasi
&3 I ITUTET B3 |

Sate Ampere’s circuital law? Find magnetic field at a point inside a

current carrying solenoid by using Ampere’s circuital law.

3rerar/OR
frega geadiT URoT A 37U =T JAHAST & ? THDUT gIAbIT &0
H FFAHU ofad A givid v Huscil # URT &Ogga daess a1 oo
Th JF U d H |
What do you mean by electromagnetic induction? Find a formula for emf
induced in a coil rotating in a uniform magnetic field.
Ush JAgaa Jgaee & frft a=g & dfafes foaAion o1 ==
3BT B gRT oMU | AP 3Maela &THAT bl Soidd UTed b |
Draw a labeled diagram to show the formation of image of an object in a
compound microscope. Derive an expression for its magnifying power.

a3rerar/OR
B9 Bl RIgied Iad| =3 Bigid & 3Iu=xdlor A Uil &b
3gadd b orIHAT hr F=ATud b |

State Huygen’s Principle, Establish the laws of refraction of light using
Huygen’s principle.



